Name: Date:

Math Challenge

vwhy do bees have sticky-hair? Because they have honey combs!

Complete the Activity.
-

®© 7,352 = ® 2,§o1 =
® 1,569 = ® 3201 =

® 12,685 = ©® 927 =

@ 49 = 3475 =

w605 = 25,062 =

© 78,164 = ® 36=

© 1,816 = 95 =

® 6,711 = 58,013 =

| @ 12,410 = | 78 =

.7(2: | ® 885 =

www.schoolhousetech.com Score:




Name: Date:

Math Challenge L

Why do bees have sticky hair? Because they have honey combs!

Complete the Activity.

© 0.0701 = | ® 0.019 =
® 04773 = ® 31=

® 0.22= © 34.1=
® 0289 = 84,795 =
O 17542 = © 0.0452 =
@ 1.127 = @ 0.482 =
® §,651 = 0.064 =
©  8.747 = 1,921 =
@ 372'= 0.0042 =

www.schoolhousetech.com Score:



